STD 6 - YEAR 2016

o SOCIAL STUDIES/R.E
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Use the map of Karam areq to answer questions
1-7.

1. The general direction of the cattle dip from the quarry
is:-

A. North West B. South East C. North D. South

2. The following are types of food eaten in Karam area.
Which one is NOT? E
A. Ugali B. Fish C. Bananas D. Beans
3.

Among the following, which economic activity is
NOT carried in the area?
.- A. Transport and communication
B. Fishing
C. Mining
D. Air transport

4. From the map, we can say the people of Karam area
are:-
A.Muslims B. Pagans
C. Traditional believers  D. Christians

5. Karam area has _____ as a senior provincial
administrator.

A. chief

B. assistant chiefs

C. district officer

D. district commissionér

6. The type of climate found to the North East on the
Karam area is likely to be:- : '

A. wet and hot B. hot and dry
C. hot and cold D. cool and wet
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10.

11,

12.

13.

14

=

16.

17.

18.

The land in Karam area rises from ____ to
A. North West to South East

B. South West (o North East

C. North East 10 South West

D. North West to South

The neighbours of Kenya includes the following
EXCEPT:-

A.Sudan B.Uganda C.Rwanda D. Etiaiopia
The following are Bantu spgakers found in Kenya
A. Abakuria and Taita  B. Pokomo and Luo

C. Abagusii and Nandi  D. Rendille and Abasuba
Between 1895 and 1913 the European had taken'a
lot of land from the Coastal people and destroyed
their kayas, Which v.oman opposed them strongly
in that region?

A. Koitalel Arap Samoei B. Wangu v.a Makeri

C. Mekatilili wa Menza D. Wangari Mathai
Mwea Tebere irrigation scheme was once a dry land
but due to irrigation w nich was introduced in the area,
they received today u lot of rainfall. Which type of
rainfall do they cxverience?

A. Relief rainfz!l B. Acidic rainfall

C. Convectional ra afall D. No rainfall in the area
Otieno, Sang and Kamau were initiated together at
the same time. Together traditionally they formed:-
A. a generation B. tribe mate

C. age szt D. age group

The following ‘are Nilctic speakers who belong to
Plain Nilotes which on: is NOT?

A. kalenjin B. Samburu C. Turkana D. Njemp:
Three of the following are benefits of democracy.
Which one is NOT?

A. It give people the right to own property

B. It encourages accountability and transparency
C. Promotion of pzace and harmony

D. It encourages ccnflicts among communities
Which language group came to Kenya MAINLY
because of trade? :

A. Nilotes B. The Semites

C. The Cushites D. The Bantu

The areas around Mount Marsabit has a higher
population than the surrounding area mainly because:-
A. there is a greater security

B. it is the administraiive headquarters

C. there are more social facilities

D. the area is wetter

The diagram shows z weather instrument. What is
its name and function?

A. Windsock - strength of wind

B. Anemometer - speed of wind

C. Windvane - speed of wind -

D. Barometer - atmospheric pressure

Which of the following things CANNOT have its
symbol on the key of a map?

A. A margin B. A mountain peak

C. Ariver D. A road

19,

20.

27

22.

230

24.

25.

26.

27.

290

30.

324

Who is the majority leader in the 11th Parliament?
A, Justine Muturi B. Aden Duale

C. Isaac Hassan D. Jakoyo Midiwo

The Turkana call their God

A.Enkai B.Cheptalel  C. Akuj D. Asis

Use the map of Kenya io answer questions 21-

The river marked number I in the map is called:-
A.R. Galana B.R.Athi C.R.Tana D.R.Nile
The county marked P is calied:- :

A.Moyale B. Garissa C.Mandera D.Embu
The line in the map marked 0° is called:-
A. longitude B. equator C. latitude - D. altitude

The area marked V has a true desert known as:-
A.Chalbi B. Voi C. Turkana D. Central
Which one of the following food crop was NOT
grown by Kenyans in the past?

A.Millet B.Sorghum C. Coffee D.Cassava -
The point indicated D in the compass below faces
which direction? 3

D

A. Nerth South West B. West Soutr: West

C. South South West D. West West Scuth
The following are physical features of the same
category. Which one is odd one out?

A.Lake B.Hills C.Valleys D.Mountains

. River Ewaso ™ yiro North drains its water iuto the:-

A. Saiwa swamp B. Lorian swamp

C. Indian Ocean D. Yala swamp

Another name 7or black cotton soil is

A, clay soil B. voleanic soil

C. loamy soil D. young soil

Which of the following activities can be done on
voleanic soils?

A ‘Mining sand

C. Growing sugarcane

B. Growing mangoes
D. Growing tea

*. According 12 the new consiitution. which name 1s

given to the vice president?

A. President B. Governos
C. Deputy president D. Deputy governor

The cutting down of trees without replacing them is
called:-

A. re-afforestation
C. deforestation

B, afforestation
D. agro-forestry
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33. The type of vegetation that i is likely to be found along
the coastal lowlands and lizve features like blearhmg
roots is LIKELY to be:

A, coconuts B. mangrove

C. savannah : D. heath and moorland
34. The type of vegetation found along Lorian swamp

is-

“A. forest vegetation B. mangrove

C. swamp vegetation D. savannah

35. Whichofthe followmo statement is NOT true about
the River-Lake- Nllotes of Kenya?
A. They originated from Southern Sudan
B. They urew sorghum and millet
C. Only Luo belong to this group of Kenva
D. They live only along the rivers and lakes
36. The Nortk Eastern part of Kenya is sparsely
populated mainly because:-
A. it has poor roads and has no railway line
B. it is very hor and there are very few towns
C. it has low rainfall and infertile soils
D. it is dry and insecure
37. The Semites originated from
A. Southern Ethiopia B. Southern Sudan
C. Arabia D. Congo forzst
38. Three of the following are ways that were used to
educate the youth traditionally. Which one is NOT?
A Imitation B. Stories
C. Reading D. Apprenticeship
39. The following are some aspects of culture of some
communities in Kenya: -
(i) Female circumeision is practised
(i) El':rs sertle disputes
(i) T aditional dances and songs arc performed
or enterlainment -
(iv) forced or arranged marriages are
cncouraged
(v) Tle needy and children are raken care of
Which one of the following combinations consists of
asp. ots of culture that should be preserved?.
A (i), (i), (iii) B.(in)s (11, (iv)
C.(0), (i), (v) D. (iii), (iv). (v)
40. T wus a leader of a community in Eastern province.
When the Europeans . ame, I gave them a place to
buili a fort. I was a major trader with the people at
the Coast. Who am I?
A. Waiyaki B. Masalbu
C. Keryatta D. Nabongo
41. The Nandi Orkoiyot who prophesied that a snak2
would pass through Nandi land was:-
A. Orkoiyot Koitalel Arap Samoei
B. Kimnyole Arap Turkat
C. Arap Sameoei Saina
D. Crkoiyot Kimnyvole
The table beiow shows various minerals miaed i
Eastern Africa and their uses. Wwhich mineral is =+
WRONGLY matched?

o
ta
.

Mineral Tts use
A. Copper Making coins
B. Diamond Makirg filter
C. " lucrspar Manufacture of toothpas;s
D.

Limestone Manufaciure of cement

Use the diagram to answer questions 43-44.

The 1ype of rainfall shown above is called
rainfall.
A.convectional B.relief  C.drv  D. short

. The kind of rainfall falls in the of Kenva.

. A.highlands B. lake basin C. valleys D. pla:m

46.

47.

48.

W
e

wn
(%)

56.

- The following are factors that affect elimate which

one DOES NOT? )

A. Latitude B. Longitude C. Altitude D. Wind
The instrumeit used to measure the strength of wind
is called:-

A. anemometer B. windvai.e

C. windmeter D. windsock

tlecnons in Kenya are held after ev: ery vears.
el B.8 Erb D.J

T'he hills in the plateaus that have resisted erosicn
are cclled:-

A. volcanoes B. inselbergs C. sand-dunes D, ranges

- The head of a county is known as:-

A_Divisional Offic.r. B. Governor
C. District Officer D. District Commissioner

- At~ peak of mouni Kenya . ou can find

A. heath uxd moorland  B. foe

C. snow D. minerals

Which of the followi ing methods is commonly us -d
for fishing in oceans?

A.Gill net B. Basket irap

C. Hook and line D. Purse seining

- Which one of the following groups of fish is caught

in inland fisheries?

A. Tilapia, mudfish. trout

B. Lobster, dagaa. ovsters
C. Nile perch, tuna, muilet

> Parrot fish, kingfish, crab

- The foliowing are characteristics of forests in Kenya:

() They have maty different type of irees

(ii) They have thick undergrowth

(iii) They mainly have sofiwood trees

(iv) Trees of the same type grow in rows

Which combination of characteristics of forests
applies to a natural forest only?

AL (1). (i), (iii) B. (i), (i), (iv)

C. (ii). (iii), (iv) D. (iii). (iv), (v)

. Which one o%4he following trees is a sofiwood?

4. Oak B.Eleonteil. C.Camphor D.Cypress
The MAIN probiem facing wildlife in Kenya is:-

A \.'llOLlQlﬂ

B. human activities in w ildlife areas

C. flooding during rainy season

D. overgrazing _

How many counties are there in Kenya?

AL 47 B. 290 C=8 B2
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58.

59,

60.

61.

Which of the fd!lowing is NOT a type of service

industry?

A. Hotel and accommondation ~ B. Tourism

C. Banking D. Vehicle assembly

Which of the following is NOT an example of direct

democracy?

A. Members of parliament passing a motion in
parliament

B. Citizens casting ballots to their MP

C. Villagers deciding where a cattle dip will be built
D. Pre.fects attending a school committee meeting
A situation where the laws of a country are NOT
respected is a state of:-

A. peacefulness B. lawlessness
C.resolution D. reinforcement

Three of the following show that the rule of law is
followed. Which one DOES NOT?

A. People respect one another

B. Children go to school safely

C. Wrongdoers are arrested and punished

D. Criminals raid banks every fortnight

C.R.E

Which of:the following is NOT an effect of
irresponsible behaviour?

A. Early pregnancy

B. School dropouts

. C. Contracting sexually transmitted diseases

62.

63.

64.

D. Happiness

The following commandments explains our duty to
God. Which one DOES NOT?

A. Do not commit adultery

B. Worship no other God but me

C. Do not use my name in vain

D. Observe the Sabbath day and keep it holy

During the early days of king David, his work was:--

A. to fight in battles B. to make tents

C. to take care of sheep D.tokill lions

Which of the following qualities would the Holy Spirit
of God not give?

~A. Kindness B. Honesty C. Love D. Jealousy

56
67.

68.

69.

70.

7 i

. Which one of the following is a symbol of new life in

Christ?

A.Birth B. Resurrection C. Baptism D. Communion
Pentecostal day was first celebrated in:-
A.Galilee B.Bethlehem C. Egypt D. Jerusalem
Jesus taught his followers that they should pray:-
A. all day long B. with humility -

C. while in a hurry D. very loudly and clearly
Who among the following asked God for wisdom?

A.Solomon B. Elijah C. Adam D. Peter
The apostle creed was taught by the to the
early Christians. 5

A.men - B. apostles C. priest D. pastors .

Jesus ascended into heaven at a place called:-
A Jerusalem B. Galilee C. Bethany D. Antiocn
Who was given the name Israel by God?

A. Joseph B.Jacob  C.Moses D.Abraham
In the Apostles creed the communion of saints
means:-

A. believing internal life to come

3w bellevmo in the resurrection of the body

C. Christians who believe in Jesus today

D. Christians both alive and dead who believe in Jesus

G 3s

74.

7S,

76.

77

The most important lesson Christians learn from the
life of king David is to:- 5
A. be humble before God
B. forgive one’s enemies
C. seek forgiveness from God
D. be faithful to their friends
Who of the following prophets talks about a new
covenant of love?
A. Jerémiah B.Amos C.Zachariah D. Malachi
Which one of the following is a gift of the Holy Spirit?
A. Kindness B. Patience C. Prophecy D. Peace
According to the Lord’s prayer, God forgives us only
when we
A. forgive others
C. pray for our enemies
Eternal life is

- A. life that starts after death
B. life of Jesus on earth
C. life that neyer ends
D. life that starts when one believes in Jesus

B. love them
D. forgive ourselves

78. Jesus said to his mother, “there is your son” John

19:26. Who was Jesus referring to?

A. Peter B. Andrew C. James D.-John

79. Which prophet helped seal the covenant between

80.

81.

82.

83.

the Israelites and God?

A. Moses  B. Jeremiah C.Elijah  D. Isaiah
The covenant between the people of Israel and God
took place at:-

A.Mt. Sinai B. Jericho C.Jerusalem D.Nazareth

God promised a new covenant through:-
A. Moses B. Elijah C. Jeremiah  D. Elisha
New life is:-

A. receiving new items

B. learning together

G, c‘eiebratmg together

By c:hangmcr from the old ways to new ones
We give our lives to God when we

A. pray always B. serve them

C. call them D. work always

84. Theresurrection ofJesus teaches Christians that they

should:-

A. be sad-when their friends die
~B. believe in eternal life

C. wait for Jesus to come

D. go to look for the dead

85. A CM&_@&%&ans a new life when he/she

A. goes to church on Sunday

B. call the name of God

C. is mature adult

D. believe in God and be baptized

86. By healing a paralytic man, Jesus shows that He

87.

ag

(TR

89.

90.

has power to
A, provide B.care C.forgivesins D.sympathize
Simon, Andrew, John and James were the first
disciples to be called by Jesus. They aill worked as:-
A. fishermen B. farmers

C. carpenters D. tent makers

David’s greatest friend was:-

A.Jonathan  B. Saul C. Peter D. John
The following w( would lead to 2 happy relationship
A respect  B. love C. partiality = D. peace
Which of the following was a traditional way of
showing peace?

A. Facing each other

C. Not respecting each other

B. Shaking hands
D. Staying apart

4
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